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SET-A 

HALFYEARL Y EXAMINATION -2017 
GEOGRAPHY 

HSE (II) Maximum: 60 Scores 

1. 

2. 

3. 

Time: 2 hours 
Cool off time : 15 Minutes 

General Instructions to candidates: 

There is a 'Cool o!Ttimc' of 15 minutes in addition to the writing time of2 hours. 
You are neither allowed to write your answers norto discuss anything \'.ith others during the 'cool off time'. 
Use the 'cool off time' to get familiar with questions and to plan your answers. 
Read the questions carefully before answe1ing 
Calculations. figures and graphs should be shown in the answer sheet itself. 
Malayalan1 version of the questions is also provided. 
Give equations wherever necessary 
Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 

!ilr,J:l a!l;l mla.C:(]lRl6mu3 

mlroijln'US Ol.llll(llJ@rollITT n.JJ06l0 15 mlml~ '.S,jUO 6l:ln0 6)6)50' ~6ITTOW1@1d36lJo. \i:Q'D (ll)(ll(!l)(Olij) G:'1..1:lrlj,6Gl3U0'65) 

~@ro)(l)o c,J)'>'J,(O)::JGlITT::J, '2l}?J,fil!OlQlJ,12l::J(l))l ~(f<}(l))OJ1m112l(ll)o ITTS@rol::JG:ITT::J n.J::JSl~. 

~roroJ©6lll300 c,J)WJ, a!lJ,cma!llm 0J,ml C:'1..1:lBj,6Gl300 lUOillJ:ln.Jj@qjo OJ:l(l))l.006TDo . 

.S,6TD"36l .S, t~eJJ, .S,00. '1..1ll@6llB uil, l(J):l <illJ, .s,uil, c,J)ffill (lJ ~ roroJ a, Gin.J';\:jOlm5roroJ 6lffil ~-owl @1.00Gmo. 

G:'1..1:IBJ6Gl300 meiw:i~roroJleJJo mm5.e,lwl3J,ri. 

~ (lJ (1(1 .l,'21J,~ mill eJ(IDij) (ll.)12] ru:, .S,.), 6GB 00 6).0,:15 J, .00 Gmo 

G:ln.J:ll(Jl:llllJ,.e,uil @'1..lcg,:im:,.s,:,@ro) .e,:,mB.oo6aeigo6.e,uo GJW1@.e,w6~ GJWJ, 1i:QeJ&hGll5:16TDl&h ~n.J.S,©GmOJJo 

n.J©1<fh!l:J::J<"Ul::J~lm5 ~n.JGl(D)::J[f)l.00::J® n.J::JSl~. 

SECTION A 
G) (ll).!MJ ml r>lf) 

Answer 1-6. Each question 
carries 1 score 

1 1Dl@m3 6 ruGlm C.!>..l:l0Ji5lffitm.96) 

1 cril<M,:lm ru1ario 

Identify the type of farming in which 
1. rul<>..16mlcn>lm8 m1(TT)6o 6W>6 ©:ll®l cn>al®:l 13J© 

rum1w1w1m8 <>..171dl6l01 dh!rill1w1s6Bl3uB cruo1®1 

6)'1..l<glJ(TT)®©o cfu~rilll m1®1w6@s cn..1@mw6® 6.e,. 
vegetable farms are located at an over 
night distance from the market. (1) 

Which among the following is a weight-
loosing raw material? (1) 
a) Iron ore b) Bauxite 
c) Sugarcane d) Cotton 

NHl connects ............. and ............. (1) 

2. 

3. 

(1) 

.o.J6 ru@s C'1..lto(Oro)1§6~ruw1m8 @:l©C@:ltill6TDo 

rro o@ru1 dl6l 6 (TT) (ID"(l (ll)orn'.5 .e,! rm ru m5 rm 6 <>ITT an? 
(1) 

( <">(j}) mm;i m.Jwlm ( mfl) c6Tll:1cti6)6)(ll)g 

( rrol) c0,mlmi (Ml) rum6roro,7 

N HI 6TlJmD1 ?J1 oo 6 (TT) mm Cl6/ID@:l6TTl .............. ( 1) 
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4. A positive balance of trade is observed 
when......... (1) 
a) Export exceeds import 
b) Import exceeds export 
c) Export and import arc equal 
d) Export and import are nil. 

5. Name the largest tea growing state in 
India (1) 

6. Decline in ground water level is mainly 

7. 
8. 

9. 

due to... (1) 
a) Over use of ground water 
b) Pollution of ground Water 
c) Excessive evaporation 
d) Severe erosion 

Section B 
Answer any 6 from questions 7-14. 

Each question carries 2 scores 

What is slash and burn agriculture? (2) 
What is the term used to denote the way 
of life of Gaddis and Bakerwals? 
Explain their way of life. (2) 
Define the following terms (2) 
a) Cost Distance 
b) Isochrones 

10. The rural areas are not getting the 
modern ICT facilities as that are 
available in the urban areas. Mention 
the term to denote this phenomenon. 
Give reasons for their limited 
availability in rural areas. (2) 
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4. nJJ,OnJO©ml(TO)JeJITTo @'@ITTJcfuJeJIZlOcfuJCTD® ( 1) 

( n{j)) cfuWgJIZl®l @Od:l6)Jl2l<m1ClmJd:l6)0U3 cfuJS,l<m 

ei o mi 1 ml d36> J cim1 o U3 

( ffi.11) @nd36>,ll2l®1 cfuWgJl2l@1ClmJd:l6)0U3 cfuJS,l(lJ) 

eJ o mil m 6 c06l J Cl ffil o U3 

(mil) cfuWg,ll2l<mlmi,io @nc96),ll2l<mlmi,io ®JeJJ,IZlO 

,::e-, f~ m1 oU3 

( cwl) cfuWRJIZl<mlWJo @0d:l6)Jl2l®1WJo @~O(lJ)O 

cfu .l Cl mJ oU3 

5. @(TO) Ji mil ro8 n{8 Q OJJ o cfuJ SJ cm ro8 Cl@ mil eJ 

@el nJOB1i:Jld:l6)J rm CTUoml.DOITT(]IZl(())? ( 1) 

6. 1sJmdlr,rn;ieici<mo® ®0!9JCTD®1m6~ 12lJ6lJJ,cfuO© 

6TDl2l06TD ( 1) 

( n{j)) 1sJ(J)d\1s@:;!eJ(ffi'(f)16>0R @'@12l1® @nJClmJO(J)o 

( ffi.11) 1s1md\1s@:;!eJ 12leJlm1,e,roGTDo 

7. 

8. 

9. 

(mil) @'@12l1@12l0CDJ ffi.10n'l1nJ1cfu©6TDo 

( cwl) ©J<fr:8112lOW IZl6>6PJOel1ij 

6> cru.&:.11 mi 611.11 

7 ID,l®~ 14 Qllil© C:,.JOC3,!lilm~1~ <>ffl6l®l»..1eJJo 

6 Cl/ilf>!M©TIDlITT ~<tmn©6>1ll~J®,l& 610Ct!IO 

ITT)1ITTJo 2 m)c.a.odl ru'l@o 

'@ru3l;.jJ~ cfu~rilll' aj)CTDO@eJmfi? ( 2) 

m~7cfuU3, ffi.ld36>dlruoU30odl ajjCTDlOJ©,l@S @:;!10J1 

®©1@1 @'@(')1 W@lliSJCTD ClnJ@(()(l'O)? @'@OJ©J@S 

@:;!1ru1@ro1®1 0Jln.rn11c06l,lcfu. (2) 

!1.l,l OJ@s Cl !1.ldl amnl 36~ nJB 6lJOU3 ml di OJ !1.ll d:l6) 6 cfu 

(2) 

( n{j)) 6).2..leJQJ BJ«JO 

( ffi.l 1 ) 6! nID Cl ml:) a Lcfu06TD ,l cfu U3 

10. ~w,im7,::e-, OJlrumCTUocim,®7,::e-, ru7m712lmi 

(6!ajj.mil.s1) CTU'Dcfu«JJ,6lIDU3 LmOl2l6lJO~lro8 mm 

(1)6lffig}7CJ:eJ(1f)JCJ:n.J06leJ eJ1sJ,12l~. @'D CTUOrill.<>...l«JJ,o 

nfil® ClnJ«JleJ06TD @'@(')lW6!':l::JSJCTD®? @amn©o 

CTU'Dcfu«JJ,6lJOOO l(J)012l6lJO§lroi:\ cfuJOWJCTD®lITTJ~ 

cfuO© 6TD6lffi U3 OJ Ji .£XID 12l0c96) J cfu. ( 2 ) 
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11. Identify the railway and name the 
terminals marked as A and B in the 
following map. (2) 

11. .:,.16ru6's mm3&1CDJ136~ @joJSroro)16'e.i ®1ru6Tls1 

ll:P ® r>ID 6) ®m'5 @1 m1 71 o16l'OlID ®ll@l m3 A B 
"4)ITTfl67ffi6) m 11m sCDJ :J~6) <MsJ roro)1CDJ 136~ 6)5 m ml 

meJJroi~J@S c:oJ© n©~J@J®. (2) 
,--------,,..-c----------,u=-o•-'-------::,..,.-::-----,:::,.,c-::,------, 

12. Distinguish between bilateral trade and 
multilateral trade. (2) 

13. Industries are classified into four based 
on the use of raw materials. Which are 
they? (2) 

14. Drought is posing a serious threat to 
agriculture in Gujarat and Rajasthan. 
Suggest a suitable plan for the above 
states and explain its functions. (2) 

Section C 
Answer any 6 questions fromlS-22 . 

Each question carries 3 scores 

15. In the given diagram 'A' and 'B' 
represent two types of mining. Identify 
them and prepare notes on each. (3) 

12. @fs:Wdhdh'l:11 QJ.l,:Jo.l:J(()QJJo 6n..ln0Jdhc&ru1 QJ.),:Jo.l 

0ru60 @'1Ill1i:..t6~ ru.i,@.l,:JTTU6'mmiS? (2) 

13. @oJ GCOKJ (1)1 dJ6} J ITTI ®ll rruo m'5 dh.\, ® rum'5 ® J <006!~ 

®llslrru..o::imm::i&ill ru,1rumJ:JW6mJ@~ m::ii:..t::iwl 

rutil(6l1dh<t11&il:Ja. <lffilQJC:CDJ6l(l})~pa? (2) 

14. (l)Jil:i("J:Jaml), m:imrru..o::icrn nfj)ITTI1 rruorruo::im 

6m3~16! i:..t &.\, rlll 1 <Eb s 6 mm) ru muB -'~P @1 rlll6TTJ1 

c:mm1s6ITTIJ, §!2'!'.l ITUom.)mm6m3uB.oo mRimpw:i 

~.i,m:iw oJlill®l mltBc:(Jut1l<00J<11>. ®ll@16'ci:q mJrul 

c:® n'll@ dhuB ru 1 utHJ IZl:Jd36) J ®· ( 2 ) 

6)01).M:lffil O'lll 

15 illJtoor® 22 OJG'l(l) C.<Ll:Jr3Ji6mli!:!1r® ctfij(i)iIDW,leJJa 

6 r>fll!ifflC!llIDlm !!@m'l@(i)lll'fJ !IDJ.9. @:JC@:J 

cm1m6a J (O)Cdh:J© OJ1(IDa 

15. rulrul W (U)(Oa 6)Jffi m lcu ruroro,m m 6m3 ~:)6TT) 

.<>..16ru@s mm3dh7Wl§Jfil§ .:>J1l®mmlcw 'A', 'B' 
"4)crnl67IB@m c:mru@'Ms6mm1CDJ1§J@.§®. <lffilru 

nfil @® :J6)d36)6) (Q.>(Tl) ®1@ l 71 ("Jl 6l'OlID dhJO 1<;tj ® CDJ:J 

O:J<f/6) Jdh. ( 3 ) 
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16. Explain any three problems faced by 
Indian agricultural sector. (3) 

17. Mineral deposits are mainly 
concentrated in three zones of India. 
Identify the zones and provide a brief 
explanation on any one of them. {3) 

18. India has diverse cropping seasons. 
Briefly discuss. (3) 

19. Classify the modes of communication 
on the basis of scale and quality and 
give one example for each of them. (3) 

20. Briefly explain the period of population 
explosion in India. {3) 

21. What are the major objectives of new 
industrial policy of India? Mention its 
dimensions. (3) 

22. Write a note on Mumbai-Pune 
Industrial region. {3) 

Section D 
Answer any three questions from23-26. 

Each question carries 4 scores 
23. Observe the map showing the 

distribution of a particular crop. 
Identify the crop. Explain its features 
and the distribution in India. {4) 

16. @OO\\Cffl ,a,or3n'!:tl,e,clil6lJeJ ram@11IlJ,6l.fl,a,ail,e6)1(TTI 

cajl@@W,leJJ,o 3 l<'Ll(J(lffi6lmCJil O.Jl(RIGIZI0<66lj,;6,.(J) 

17. lnJUJO m IIlOWJ,o J (jl2l6l 1 e.i ,a, @1e.io W06m 

@ ml\\ wl lll8 wo@;i, ml C<frllJ ru6lmu3 c,a,l m1,a, ail 

'66l6l~§l©l<66ljITT)((J)_ §Q'!.l Clll61JeJ,;6,00 caj36>®0 

6)'66)6)(!).IITT) @l ©1 ajOl61111ID caj36>®8,, l eJJ, o 6l ITT)l 

6lm,00,1n1,.ll rulCRlo1,a,ro1,006,a,. ( 3) 

18. §Q CTID.), CQl <66) 6)6)ruQJ1 Ul.), IIlOr3 ITT) ,a, Or3n'!:l l ,a,,a,o eJ 

6lm@j6ra. ()J_),<JW>lll0<00j<8,. ( 3) 

19. OJJ,O<>J®l,. (J)j6mITTleJruO©o "4)ITT)l()J<ll.lJ,61S iumsl 

m.womQl111J1 lll8 OJO r3 Ql111JOnJ1 ml 12l<ll.l \Tl.Jo ru 1 w om 

6lm6>@ ®©o®l©l<OOj<8,. 6lOC©OITT)lffijo 6,:)(j©:) 

il:1GOn0©6m6lrou3 OJ1®o "4)'PJ,®J,<8,. ( 3) 

20. @ml).\ <ll.l l6>eJ ll< m m.Jo6l.J_), 0 OJ lrrucc,0 OSIDQl111J 16>~ 

<6,0eJ<>el§6>Ql111J<66lJ,Ol~ OJlCRIGIZlO<OOJ,<8,. ( 3) 

21. @®.', w16leJ n.JjQl111J® ruprurn.Jowl,a, mCQl 

Ql111Jl6>f1R lnJ wom i!:'!Crj CR1 ei <&,'}j.l 6U1300 

"4) 6) CT(I) o @ '66) r ium ® 1 6) DR OJ 1 OJ 1 w ® e.i 6ITT3 ua 
caj3 6)@:)6) '66)? ( 3 ) 

22. IZIJ,o6>6>Sl1.J - n..lj6>ffi OJJ,Orum.JOWl,a, Cl2l6>JeJ6l<ll.l 

,OOJOlaj <6,Jnl@~'Pj®J,<8,. (3) 

6) IT\) <Eidt® (Ull 

23 IBJ,®tlf5 26 (1]6)© C.c,JOrJ.l,lilm~1@5 <tjjJ6>®Ell,1E'.IJ,o 

3 "1il~/mIDlm ~@JID(/16)1B'!'f~)ldl, 

6lOCO>OITT)lmJo 4 (TUCdl,0/3 ru1nno 

23. mlll8,e, 1 Cllll§J,~ @jn.JSo mlm1<&,'}jlaj ium@llll8 

.c,Jll@1,a,©lajl§J,~ rul@ ajl@@m5 @lmlajn1 

<ll.lJ,,S,. ~ rul@@J,6>5 (TUrulCCRln'!:l@,fuCJil, @CTID.\ 

wllll8 ~ rul@<ll.lJ,@S rul@rosmo ,aj)ITT)lru rulCRI 

~~-~-~---'--,-~G_IZIO_<OO...,..,,.,e,_.~~ (4) 

,r 

.... " 

... 
< --
rNDNl:U 

IB==I .i·· c,, 

., ~1::-IIIRll;II 
.. ... ""la ~. ~ 

... l"r,;, ,,., ,.. ,,., \ 
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24. Explain the demographic transition 
model with the help of a suitable 
diagram. (4) 

25. Give a brief account on different types 
of rural settlements in India. (4) 

26. Prepare a note on the features of any 
four Iron and steel plants in India. (4) 

Section E 
Answer any one question from 27-28. 

Question carries 6 scores 
27. Specialization of skills and methods of 

production is one of the characteristics 
of modern large scale manufacturing. 
Identify and explain other 
characteristics. (6) 

28. Large scale industries are location 
specific. Examine the statement with 
suitable examples. (6) 

Section F 
(One score each to identify and locate 

each. Total 6 scores) 

29. Identify and locate the following geo 
information on the outline map of India 
provided. (one score each) 
A. The most densely populated state 
B. The easternmost port 
C. The region known as the store 

house of minerals. 
D. The most polluted river 
E. Region with lignite deposits 
F. Westernmost metro city 

24. mmm.ioru~on..1mlrualam»m IZl::Hm!ce, @©6 MCDJ 

L(J)am» 16'1 <Tl.lnO'J (!)) Cam» 06'S ru 1 (.11) 8 !Zl'J c86l J ce,. 

(4) 

25. gJCTm~CDJl@e.i rulrulw@©o L(J)'JIZl°l6lT) ruomirrun 

e.ir;m@~c86lJ01'3d am6 e.ine16rulrum61T)o mrn8ce,6ce,. 

(4) 

26. giCTm~CDJl@e.i n{B@@m,le.160 4 gJ©JCTl.lJ©Jd36l ru~ru 

m.io w (J1)'Je.J.&,~6 6) s mi ru fo(.11) n3:1 m, ce, 6l ~ c86l Jo l '3d 

ee,6 olij n(j)'l'J @6.a-,. ( 4) 

!,) (11) dh'l:l® m 
27 rn6a»@il 28 (lJ!,l(c) C.ct..l::>0-1,!ilm~lctm "li36)@m,l060 

6JITTllITT ~CMID@6)1D'4'J@J&. 6 mJG&::>© 

2 7. ~©3 l½P3 mroro> 1 eJJ O 6)6) ru (3 cnw ~ roro>leJJ O l (.11)(ill Ce&., 

Lm"lee,m1c86lJe&., n(j)ITTl@061TI ~WJ mlee, rurroee, ls 

@mil l½:IO 11 m mo (I)@ roro> '"ro 6 mi rul mm n3:l@. 12lgJ 

<T1.l rul (J:(/() n3:l@e8, cm "43 6) (C)Q 6) ,:86) 6) (Q)(TT) cml rol ~ 

o161!ITT)) ru 1 (.11) 11 ,wc86l 6 ee,. ( 6 ) 

2 a. ru rm ee, 1 s ru~ ru m.i o CDJ r;mu3 rrun ::>m"I CDJ "-QI s ee, 

r;mcmoo !ZlJ®@lc86lWJ~ruwo61TI. @2'D Ln.Jrn'5@o 

rum @80n0©61T)6'lmUO min0l®o n.1mlcwoowl 

(6) 

Ei}{l\) dh'l:lilll nfil co.ii 
rul rum !M'l u3 a»l m 1 ~ n l /ilMOl 

Cl©lil.l6)~SlCMIDl rrocmlm 1 m)'.c.a,::,(3 ru1®"· 
~6).a, 6 mJG&::>© 

29. mrni\ce,1w1 36~ @200~ CDJJ@S ©ln..1 l!roruwlrnil 

-"-.!Jru@s G-"-.l©roro>1 36~ @1ru1rua.u;mu3 ®lml~ 

o161!ITT)) Gl©6lJ@':½JS;! roro>6ee,. ( 1 rn'5Glee,oal ru"I@") 

A nmgruJo @'@Wle&.,Q mm rn:io Lffi@(l))J~ 

mi"rrunomo 

B. ee,l<p(J:,:86) @'@groro>J~ @J01216ruo 

C. WO@Jc86l~J@S mio@(l)61T)(te8,LITTo n(j)ITTlOlCDJ 

6>':½JSJITT> Ln.JC:8(.11)0 

D. nfBROJJo mmwlee,o ai12.flmaioc86l@l½:I§ m111 

E. eJl@@(Jl)g ml(Milln.JQlJ~ Ln.JGlB®o 

F. nfil\?OlJo n.JS16TOMOOJ~ @Ql(J:LS'J m(J)©o. 
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Qn.No 

1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 

13 

14 

15 

16 

17 

18 

19 

20 

21 

HALF YEARLY EXAMINATION - 2017 
GEOGRAPHY - XII 

Answer Key 

Value Points 

Truck farming 

Sugarcane 

Delhi andAmritsar 

Export exceeds import 

Assam 

Over use of ground water 

To explain slash and bum agriculture/Shifting cultivation 

Transhumance 

To explain their life 

The expense of travelling on a route 

Lines are drawn on a map to join places equal in terms of the time 

taken to reach there 

Digital divide 

To explain digital divide 

Australian Transcontinental railway 

(A)Perth (B)Sydney 

To explain Bilateral and multilateral trade 

To classify any four industries based on raw materials 

Agro based, Forest based, chemical based, Animal based 

Drought Prone Area Programme 

To write its objectives 

Surface mining/opencast mining, underground mining /shaft method 

To explain the characteristics 

Explain any three problems faced by Indian agriculture 

To identify three zones 

To explain any one zone 

Explain three crop seasons Kharif, Rabi & Zaid 

Mass communication 

Personal communication 

Examples 

Phase III - 1951 - 1981 

Explain the feature of this phase 

To write the major objectives oflndustrial policy 

To write its dimensions 

1 

Set-A 

Score Total 

1 1 

1 1 

1 1 

1 1 

1 1 

1 1 

2 2 

1 

1 2 

1 

1 2 

1 

1 2 

1 

1 2 

2 2 

½x4=2 2 

1 

1 2 

1 

2 3 

lx3 3 

½x4=2 

lxl =1 3 

3x1=3 3 

½ 

½ 

2 3 

1 

2 3 

½x3=1½ 

½x3=1½ 3 



Qn.No Value Points Score Total 

22 To explain the features of Mumbai - Pune industrial region 

( any three points) 3 3 

23 To identify the crop - Rice I 

To explain its feature I½ 

Explain its distribution I½ 4 

24 To draw the diagram 2 

To explain demographic transition 2 4 

25 Types of rural settlements clustered, semi-clustered, Hamleted, isolated ½x4=2 

To explain each ½x4=2 4 

26 To name the industries ½x4=2 

To prepare notes on each ½x4=2 4 

27 To list the characteristics 

Mechanisation 

Technological innovation 

Organisational structure 

Uneven geographical distribution 4x½=2 

To explain each 4xl=4 6 

28 To list the locational factors (any four) 4x½=2 

To explain each 4xl=4 6 

29 A.Bihar I 

B. Kolkata I 

C. Chottanagpur plateau I 

D.Yamuna I 

E.Neyveli I 

F. Ahmedabad I 6 

2 
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